					RAUDE	NBUSH					BAR	COTT	CONFED	ERATED
	IDDER ENGINEER'S EST		SESTIMATE	EARTHWORKS		ROGNLIN'S, INC.		RUSS CONSTRUCTION		CONSTRUCTION, LLC		CONSTRUCTION CO. LLC		
	BIDDER ADDRESS				13108 155th		321 West State Street		P.O. Box 336		P.O. Box 366		18121 Anderson Road	
						Rainier, WA 98576		Aberdeen, WA 98520		Montesano, WA 98563		WA 98532	Oakville, WA 98568	
	WASHINGTON STATE WORKMAN'S COMP	. ACCT. NO	· ·		· · · · · ·	370,602-01		216,583-01		91-00	626,316-00		677,375-01	
	WASHINGTON STATE CONTRACTOR'S REC				,	RAUDEEL789JB		ROGNL**342LF		RUSSCC*812DH		CL846JQ	CONFECC884D7	
	BID BOND OR OTHER GOOD FAITH TOKEN	V			5% BID	BOND	5% BID	BOND	5% BII) BOND	5% BID	-	5% BID	BOND
									-					
NO.	ITEM	QUANTIT	Y UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1	SPCC Plan	1 LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$500.00	\$500.00	\$350.00	\$350.00	\$100.00	\$100.00
2	Minor Change	1 CAL	C \$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
3	Survey	1 LS	\$6,000.00	\$6,000.00	\$9,000.00	\$9,000.00	\$16,000.00	\$16,000.00	\$10,000.00	\$10,000.00	\$8,650.00	\$8,650.00	\$10,500.00	\$10,500.00
4	Mobilization, Cleanup and Demobilization	1 LS	\$30,000.00	\$30,000.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00	\$40,000.00	\$40,000.00	\$56,355.00	\$56,355.00	\$14,000.00	\$14,000.00
5	Project Temporary Traffic Control	1 LS	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	\$40,000.00	\$40,000.00	\$8,775.00	\$8,775.00	\$55,381.00	\$55,381.00
6	Work Zone Safety Contingency	1 FA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
7	Clearing and Grubbing	1 LS	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$4,330.00	\$4,330.00	\$19,579.00	\$19,579.00
8	Removal of Structure and Obstruction	1 LS	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$18,000.00	\$18,000.00	\$14,230.00	\$14,230.00	\$21,080.00	\$21,080.00
9	Excavation, Embankment and Grading, Incl.													
	Haul	1 LS	\$15,000.00	\$15,000.00	\$7,500.00	\$7,500.00	\$30,000.00	\$30,000.00	\$15,000.00	\$15,000.00	\$32,465.00	\$32,465.00	\$29,838.00	\$29,838.00
10	Gravel Borrow, Incl. Haul	200 TN	\$36.00	\$7,200.00	\$15.00	\$3,000.00	\$55.00	\$11,000.00	\$35.00	\$7,000.00	\$1.00	\$200.00	\$34.00	\$6,800.00
11	Locate Existing Utilities	1 LS	\$2,000.00	\$2,000.00	\$5,700.00	\$5,700.00	\$5,000.00	\$5,000.00	\$850.00	\$850.00	\$3,275.00	\$3,275.00	\$6,473.00	\$6,473.00
12	Crushed Surfacing Top Course	600 TN	\$40.00	\$24,000.00	\$15.00	\$9,000.00	\$75.00	\$45,000.00	\$40.00	\$24,000.00	\$86.00	\$51,600.00	\$33.00	\$19,800.00
13	Commercial HMA	240 TN	\$110.00	\$26,400.00	\$177.00	\$42,480.00	\$250.00	\$60,000.00	\$205.00	\$49,200.00	\$193.00	\$46,320.00	\$216.00	\$51,840.00
14	DI Storm Pipe, 8 In. Diam. (Incl. Bedding)	400 LF	\$105.00	\$42,000.00	\$120.00	\$48,000.00	\$105.00	\$42,000.00	\$104.00	\$41,600.00	\$129.00	\$51,600.00	\$83.00	\$33,200.00
15	CPEP Storm Sewer Pipe, 12 In. Diam. (Incl.													
	Bedding)	32 LF	\$60.00	\$1,920.00	\$218.00	\$6,976.00	\$75.00	\$2,400.00	\$75.00	\$2,400.00	\$130.00	\$4,160.00	\$221.00	\$7,072.00
16	Concrete Inlet	3 EA	\$1,700.00	\$5,100.00	\$2,000.00	\$6,000.00	\$3,000.00	\$9,000.00	\$2,200.00	\$6,600.00	\$2,160.00	\$6,480.00	\$1,975.00	\$5,925.00
17	Catch Basin, Type 1	7 EA	\$2,400.00	\$16,800.00	\$2,000.00	\$14,000.00	\$3,000.00	\$21,000.00	\$3,500.00	\$24,500.00	\$2,390.00	\$16,730.00	\$2,234.00	\$15,638.00
18	Adjust Catch Basin	3 EA	\$500.00	\$1,500.00	\$750.00	\$2,250.00	\$1,000.00	\$3,000.00	\$500.00	\$1,500.00	\$400.00	\$1,200.00	\$2,793.00	\$8,379.00
19	Adjust Manhole	2 EA	\$500.00	\$1,000.00	\$1,250.00	\$2,500.00	\$1,000.00	\$2,000.00	\$500.00	\$1,000.00	\$785.00	\$1,570.00	\$2,252.00	\$4,504.00
20	Plugging Existing Pipe	2 EA	\$400.00	\$800.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$1,200.00	\$2,400.00	\$180.00	\$360.00	\$100.00	\$200.00
21	Trench Excavation Safety Systems	1 LS	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00	\$500.00	\$500.00	\$585.00	\$585.00	\$3,500.00	\$3,500.00
22	Bank Run Gravel for Trench Backfill	190 TN	\$60.00	\$11,400.00	\$12.00	\$2,280.00	\$20.00	\$3,800.00	\$21.00	\$3,990.00	\$1.00	\$190.00	\$34.00	\$6,460.00
23	Removal of Unsuitable Material (Trench)	10 TN	\$50.00	\$500.00	\$60.00	\$600.00	\$50.00	\$500.00	\$125.00	\$1,250.00	\$60.00	\$600.00	\$47.00	\$470.00
24	Adjust Valve Box	7 EA	\$600.00	\$4,200.00	\$300.00	\$2,100.00	\$500.00	\$3,500.00	\$500.00	\$3,500.00	\$480.00	\$3,360.00	\$932.00	\$6,524.00
25	Adjust Meter Box	5 EA	\$500.00	\$2,500.00	\$200.00	\$1,000.00	\$500.00	\$2,500.00	\$700.00	\$3,500.00	\$350.00	\$1,750.00	\$459.00	\$2,295.00
26	Erosion Control and Water Pollution Prevention	1 LS	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$2,690.00	\$2,690.00	\$2,500.00	\$2,500.00
27	Seeding, Fertilizing and Mulching	600 SY	\$2.00	\$1,200.00	\$4.50	\$2,700.00	\$2.00	\$1,200.00	\$2.50	\$1,500.00	\$3.50	\$2,100.00	\$2.75	\$1,650.00
28	Topsoil, Type A	110 CY	\$80.00	\$8,800.00	\$60.00	\$6,600.00	\$55.00	\$6,050.00	\$60.00	\$6,600.00	\$104.00	\$11,440.00	\$120.00	\$13,200.00
29	Cement Conc. Traffic Curb and Gutter	1,250 LF	\$60.00	\$75,000.00	\$27.00	\$33,750.00	\$22.00	\$27,500.00	\$38.00	\$47,500.00	\$25.50	\$31,875.00	\$37.50	\$46,875.00
30	Cement Conc. Driveway Entrance	210 SY	\$90.00	\$18,900.00	\$93.00	\$19,530.00	\$80.00	\$16,800.00	\$125.00	\$26,250.00	\$107.00	\$22,470.00	\$113.00	\$23,730.00
31	Cement Conc. Driveway Repair	16 SY	\$110.00	\$1,760.00	\$325.00	\$5,200.00	\$80.00	\$1,280.00	\$150.00	\$2,400.00	\$90.00	\$1,440.00	\$82.00	\$1,312.00
32	Precast Concrete Bumper Curb	7 EA	\$120.00	\$840.00	\$300.00	\$2,100.00	\$200.00	\$1,400.00	\$175.00	\$1,225.00	\$195.00	\$1,365.00	\$173.00	\$1,211.00
33	Flexible Guide Post	8 EA	\$20.00	\$160.00	\$300.00	\$2,400.00	\$200.00	\$1,600.00	\$200.00	\$1,600.00	\$250.00	\$2,000.00	\$183.75	\$1,470.00
34	Remove and Relocate Fence	100 LF	\$20.00	\$2,000.00	\$57.00	\$5,700.00	\$50.00	\$5,000.00	\$20.00	\$2,000.00	\$50.00	\$5,000.00	\$52.49	\$5,249.00

APPROVED: BS

DATE: 4/2025 DRAWN: SC CHECKED: BS

	RAUDENBUSH											BARCOTT		DERATED
	BIDDER		ENGINEER'S	S ESTIMATE EARTHV		WORKS ROGNLIN		N'S, INC. RUSS CONS		TRUCTION CONSTRUCT		CTION, LLC CONSTRUC		TION CO. LLC
NO.	ITEM	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
35	Cement Conc. Sidewalk	540 SY	\$80.00	\$43,200.00	\$93.00	\$50,220.00	\$85.00	\$45,900.00	\$95.00	\$51,300.00	\$106.00	\$57,240.00	\$115.00	\$62,100.00
36	Detectable Warning Surface	180 SF	\$27.00	\$4,860.00	\$40.00	\$7,200.00	\$45.00	\$8,100.00	\$40.00	\$7,200.00	\$47.00	\$8,460.00	\$44.10	\$7,938.00
37	Mailbox Support, Type 2	1 EA	\$600.00	\$600.00	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00	\$750.00	\$750.00	\$470.00	\$470.00	\$500.00	\$500.00
38	Permanent Signing	1 LS	\$2,400.00	\$2,400.00	\$6,000.00	\$6,000.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$2,925.00	\$2,925.00	\$2,625.00	\$2,625.00
39	Paint Line	580 LF	\$2.00	\$1,160.00	\$2.00	\$1,160.00	\$2.00	\$1,160.00	\$2.00	\$1,160.00	\$4.00	\$2,320.00	\$4.00	\$2,320.00
40	Plastic Stop Line	80 LF	\$20.00	\$1,600.00	\$16.00	\$1,280.00	\$15.00	\$1,200.00	\$25.00	\$2,000.00	\$24.00	\$1,920.00	\$21.00	\$1,680.00
41	Plastic Crosswalk Line	560 SF	\$15.00	\$8,400.00	\$10.00	\$5,600.00	\$10.00	\$5,600.00	\$25.00	\$14,000.00	\$12.00	\$6,720.00	\$10.50	\$5,880.00
	Subtotal			\$413,700.00		\$399,326.00		\$439,690.00		\$472,775.00		\$478,570.00		\$512,798.00
	Sales Tax @ 0% (Per W.S. Revenue Rule 171)			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	TOTAL CONSTRUCTION COST			\$413,700.00		\$399,326.00		\$439,690.00		\$472,775.00		\$478,570.00		\$512,798.00

DATE: 4/2025 DRAWN: SC CHECKED: BS APPROVED: BS

	R.W. SCOTT			NO	VA	NORTH	WEST	MID	WAY	HOUSE B	ROTHERS		
BIDDER		CONSTRUCTION CO.			CONTRACTING, INC.		CASCADE, INC.		UNDERGROUND, LLC		CONSTRUCTION, INC.		
	BIDDER ADDRESS	4005 West Valley Highway North		6526 110th		P.O. Box	,	,		594 West Elma Hicklin Road			
	DIDDERTIDDRESS		Auburn, WA 98001			Olympia, WA 98512		Puyallup, WA 98373		Toledo, WA 98591		WA 98557	
	WASHINGTON STATE WORKMAN'S COMP.	ACCT. NO.	,		• • •	206,913-00		265,081-00		632,453-00		84-01	
	WASHINGTON STATE CONTRACTOR'S REG. NUMBER RWSCOC229M			NOVACI*991N3		NORTHCI148BG		MIDWAUL840PQ		HOUSEBC077CW			
	BID BOND OR OTHER GOOD FAITH TOKEN		5% BID BOND			5% BID BOND		5% BID BOND		5% BID BOND		BOND	
NO.	ITEM	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
1	SPCC Plan	1 LS	\$600.00	\$600.00	\$600.00	\$600.00	\$500.00	\$500.00	\$680.00	\$680.00	\$8,753.25	\$8,753.25	
2	Minor Change	1 CALC	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	
3	Survey	1 LS	\$8,856.00	\$8,856.00	\$20,000.00	\$20,000.00	\$9,000.00	\$9,000.00	\$9,860.00	\$9,860.00	\$15,452.25	\$15,452.25	
4	Mobilization, Cleanup and Demobilization	1 LS	\$41,000.00	\$41,000.00	\$50,000.00	\$50,000.00	\$52,000.00	\$52,000.00	\$66,000.00	\$66,000.00	\$10,453.25	\$10,453.25	
5	Project Temporary Traffic Control	1 LS	\$39,580.00	\$39,580.00	\$14,000.00	\$14,000.00	\$43,000.00	\$43,000.00	\$60,000.00	\$60,000.00	\$10,953.25	\$10,953.25	
6	Work Zone Safety Contingency	1 FA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	
7	Clearing and Grubbing	1 LS	\$10,592.00	\$10,592.00	\$22,000.00	\$22,000.00	\$19,500.00	\$19,500.00	\$4,900.00	\$4,900.00	\$48,453.25	\$48,453.25	
8	Removal of Structure and Obstruction	1 LS	\$10,716.00	\$10,716.00	\$24,000.00	\$24,000.00	\$29,870.00	\$29,870.00	\$29,600.00	\$29,600.00	\$6,653.25	\$6,653.25	
9	Excavation, Embankment and Grading, Incl.												
	Haul	1 LS	\$11,328.00	\$11,328.00	\$36,000.00	\$36,000.00	\$25,000.00	\$25,000.00	\$32,000.00	\$32,000.00	\$110,000.00	\$110,000.00	
10	Gravel Borrow, Incl. Haul	200 TN	\$52.80	\$10,560.00	\$30.00	\$6,000.00	\$37.00	\$7,400.00	\$51.50	\$10,300.00	\$58.37	\$11,674.00	
11	Locate Existing Utilities	1 LS	\$6,000.00	\$6,000.00	\$2,400.00	\$2,400.00	\$3,000.00	\$3,000.00	\$4,620.00	\$4,620.00	\$10,953.25	\$10,953.25	
12	Crushed Surfacing Top Course	600 TN	\$51.00	\$30,600.00	\$60.00	\$36,000.00	\$38.00	\$22,800.00	\$47.00	\$28,200.00	\$53.80	\$32,280.00	
13	Commercial HMA	240 TN	\$247.50	\$59,400.00	\$200.00	\$48,000.00	\$217.00	\$52,080.00	\$260.00	\$62,400.00	\$544.16	\$130,598.40	
14	DI Storm Pipe, 8 In. Diam. (Incl. Bedding)	400 LF	\$85.00	\$34,000.00	\$80.00	\$32,000.00	\$92.00	\$36,800.00	\$142.00	\$56,800.00	\$25.07	\$10,028.00	
15	CPEP Storm Sewer Pipe, 12 In. Diam. (Incl.												
	Bedding)	32 LF	\$167.00	\$5,344.00	\$100.00	\$3,200.00	\$95.00	\$3,040.00	\$109.00	\$3,488.00	\$468.75	\$15,000.00	
16	Concrete Inlet	3 EA	\$3,182.00	\$9,546.00	\$3,000.00	\$9,000.00	\$1,850.00	\$5,550.00	\$3,400.00	\$10,200.00	\$3,333.33	\$9,999.99	
17	Catch Basin, Type 1	7 EA	\$3,347.00	\$23,429.00	\$6,000.00	\$42,000.00	\$1,900.00	\$13,300.00	\$3,300.00	\$23,100.00	\$2,142.86	\$15,000.02	
18	Adjust Catch Basin	3 EA	\$1,601.00	\$4,803.00	\$1,000.00	\$3,000.00	\$325.00	\$975.00	\$900.00	\$2,700.00	\$2,500.00	\$7,500.00	
19	Adjust Manhole	2 EA	\$1,116.00	\$2,232.00	\$1,000.00	\$2,000.00	\$800.00	\$1,600.00	\$900.00	\$1,800.00	\$3,750.00	\$7,500.00	
20	Plugging Existing Pipe	2 EA	\$2,182.00	\$4,364.00	\$600.00	\$1,200.00	\$500.00	\$1,000.00	\$900.00	\$1,800.00	\$1,750.00	\$3,500.00	
21	Trench Excavation Safety Systems	1 LS	\$3,000.00	\$3,000.00	\$2,900.00	\$2,900.00	\$1,000.00	\$1,000.00	\$790.00	\$790.00	\$8,500.00	\$8,500.00	
22	Bank Run Gravel for Trench Backfill	190 TN	\$55.00	\$10,450.00	\$40.00	\$7,600.00	\$43.00	\$8,170.00	\$64.00	\$12,160.00	\$108.81	\$20,673.90	
23	Removal of Unsuitable Material (Trench)	10 TN	\$202.00	\$2,020.00	\$100.00	\$1,000.00	\$110.00	\$1,100.00	\$35.00	\$350.00	\$1,550.00	\$15,500.00	
24	Adjust Valve Box	7 EA	\$443.00	\$3,101.00	\$600.00	\$4,200.00	\$700.00	\$4,900.00	\$960.00	\$6,720.00	\$507.14	\$3,549.98	
25	Adjust Meter Box	5 EA	\$500.00	\$2,500.00	\$300.00	\$1,500.00	\$250.00	\$1,250.00	\$960.00	\$4,800.00	\$690.00	\$3,450.00	
26	Erosion Control and Water Pollution Prevention	1 LS	\$2,514.00	\$2,514.00	\$2,600.00	\$2,600.00	\$13,200.00	\$13,200.00	\$1,570.00	\$1,570.00	\$13,000.00	\$13,000.00	
27	Seeding, Fertilizing and Mulching	600 SY	\$10.00	\$6,000.00	\$2.00	\$1,200.00	\$2.00	\$1,200.00	\$3.40	\$2,040.00	\$12.50	\$7,500.00	
28	Topsoil, Type A	110 CY	\$95.00	\$10,450.00	\$30.00	\$3,300.00	\$56.00	\$6,160.00	\$93.00	\$10,230.00	\$235.45	\$25,899.50	
29	Cement Conc. Traffic Curb and Gutter	1,250 LF	\$30.80	\$38,500.00	\$30.00	\$37,500.00	\$39.00	\$48,750.00	\$31.50	\$39,375.00	\$62.32	\$77,900.00	
30	Cement Conc. Driveway Entrance	210 SY	\$75.90	\$15,939.00	\$120.00	\$25,200.00	\$108.00	\$22,680.00	\$120.00	\$25,200.00	\$47.62	\$10,000.20	
31	Cement Conc. Driveway Repair	16 SY	\$76.00	\$1,216.00	\$200.00	\$3,200.00	\$108.00	\$1,728.00	\$140.00	\$2,240.00	\$625.00	\$10,000.00	
32	Precast Concrete Bumper Curb	7 EA	\$750.00	\$5,250.00	\$300.00	\$2,100.00	\$185.00	\$1,295.00	\$460.00	\$3,220.00	\$357.14	\$2,499.98	
33	Flexible Guide Post	8 EA	\$180.00	\$1,440.00	\$100.00	\$800.00	\$200.00	\$1,600.00	\$300.00	\$2,400.00	\$175.00	\$1,400.00	
34	Remove and Relocate Fence	100 LF	\$67.62	\$6,762.00	\$60.00	\$6,000.00	\$64.00	\$6,400.00	\$38.00	\$3,800.00	\$150.00	\$15,000.00	

DATE: 4/2025 DRAWN: SC CHECKED: BS APPROVED: BS

			R.W. SCOTT				NORTHWEST		MIDWAY		HOUSE BROTHERS		
	BIDDER		CONSTRUCTION CO.		CONTRACTING, INC.		CASCADE, INC.		UNDERGROUND, LLC		CONSTRUCTION, INC.		
NO.	ITEM	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
35	Cement Conc. Sidewalk	540 SY	\$81.40	\$43,956.00	\$90.00	\$48,600.00	\$93.00	\$50,220.00	\$119.00	\$64,260.00	\$120.00	\$64,800.00	
36	Detectable Warning Surface	180 SF	\$47.30	\$8,514.00	\$50.00	\$9,000.00	\$83.00	\$14,940.00	\$54.00	\$9,720.00	\$30.56	\$5,500.80	
37	Mailbox Support, Type 2	1 EA	\$850.00	\$850.00	\$300.00	\$300.00	\$1,400.00	\$1,400.00	\$1,670.00	\$1,670.00	\$5,500.00	\$5,500.00	
38	Permanent Signing	1 LS	\$3,750.00	\$3,750.00	\$2,500.00	\$2,500.00	\$2,800.00	\$2,800.00	\$5,340.00	\$5,340.00	\$10,453.00	\$10,453.00	
39	Paint Line	580 LF	\$20.00	\$11,600.00	\$5.00	\$2,900.00	\$4.00	\$2,320.00	\$2.70	\$1,566.00	\$26.64	\$15,451.20	
40	Plastic Stop Line	80 LF	\$80.00	\$6,400.00	\$20.00	\$1,600.00	\$23.00	\$1,840.00	\$20.00	\$1,600.00	\$101.86	\$8,148.80	
41	Plastic Crosswalk Line	560 SF	\$40.00	\$22,400.00	\$10.00	\$5,600.00	\$11.00	\$6,160.00	\$13.25	\$7,420.00	\$17.32	\$9,699.20	
	Subtotal			\$522,562.00		\$524,000.00		\$528,528.00		\$617,919.00		\$802,178.72	
	Sales Tax @ 0% (Per W.S. Revenue Rule 171)			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00	
	TOTAL CONSTRUCTION COST			\$522,562.00		\$524,000.00		\$528,528.00		\$617,919.00		\$802,178.72	
	Sealed bids were opened at the City of McCleary			eary,									
	Washington 98557 on Thursday, April 3, 2025, a	at 10:00 a.m. (1	ocal time).										
							DENOTES						
	I hereby certify that, to the best of my knowledge, the above tabulations are true and correct						MATHEMATIC	CALOR					
	ranscriptions of the unit prices and total amounts bid.						ROUNDING EF						
	B.1 L												
	RIAN SOURWINE, P.E.												

DATE: 4/2025 DRAWN: SC CHECKED: BS APPROVED: BS